: 5 The remaining questions in this workbook are devoted to a selection _of,
5 specific crimes. Because there are so many crimes in South African law,itisnot:
possible to cover all the crimes in'the questions in. this book. It is not even-

possible to cover all the common-law crimes; .~ = e h e

As students must be able to give a definition of every crime, the qu:

in this section do not ask merely for the definitions of crimes, but !
students’ wider knowledge oft’he'parti,curlarcrimes. Ean i e

U e —

9. HIGHTREASON

By brasmus 1923 AD /3
S v Mayekiso 1988 (4) SA 738 {W) :
Sy Tsotsobe 1983 (1) SA 856 (A) |

Question 102 (73
Discuss the requirement for high treason that the perpetrator must owe allegiance tothe
Republic of South Africa.

Answer
Answer this question on your own.

Question 103

(@) Discuss the particular intention required for a conviction of high treason. {7)
‘) Indicate the difference between the intention required for high treason, the inten-

tion required for sedition and the intention required for public violence. {4)
Answers

/q)  The intention that must accompany the act can be described as the definitive
cloment of high treason. It is known as animus hostilis or hostile intent. No matter
how innocent the act may be when viewed from the outside, it leads to a conviction
of high treason ifitis accompanied by hostile intent.

Hostile intent is present if it is X's intention to overthrow the state. For the
purposes of high treason the government is completely identified with the state;
therefore X acts with hostile intent if he or she intends unlawfully to overthrow the
government.

In Erasmus the Appellate Division held that hostile intent is not confined to an
intention to overthrow the state, but that it may also include the intention to achieve
some lesser goal. In this case itwas held that it may include an intention to force the
government by violence 10 adopt a certain line of action. From the case law it is
furthermore clear that hostile intent also includes an intention to impair the
independence or safety of the state, or even an intention merely to endanger the

High treason |
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independence or safety of the state. It follows that hostile intent is not limited to an
intention to assist a foreign enemy.

X’s intention must not be confused with his motive. His motive may be to create a
society or a constitution which in his opinion is more just than the existing one, but
this will not avail him if in fact he harboured a hostile intent, as described above.
Although there may be a measure of overlapping between the intention required for
high treason and that required for sedition and public violence, the hostile intent
required for treason is in essence directed at the existence of the state. The intention
required for sedition is primarily aimed at the authority of the state, and that required
for public violence at the public peace and tranquillity.

Question 104 5)
Discuss the question whether a person may ever be convicted of attempt, conspiracy or
incitement to commit high treason, or as an accomplice Or an accessory after the fact to
the crime.

Answer
Answer this question on your own.
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Question 105 (5)

Discuss the requirement for a conviction of common-law perjury that X must have made a
false statement.

Answer

The false declaration may be either oral or written - that s, contained in an affidavit.
According to Snyman, the declaration must be false. In English law only subjective. and
not objective, falsity is required. This means that the crime can be committed by some-
body who speaks the truth while under the impression that he or she is telling a lie. it has
not yet been decided in South Africa whether objective or subjective falsity is required. If
the witness tells the truth under oath while he actually intends to lie, he or she may be
convicted of attempted perjury.

The falsehood can be made either expressly or tacitly. If it is made tacitly, the pros-
ecution relies on an innuendo. In Vallabh, for example, it was decided that the words of a
witness ‘| have already stated what | heard' implied that the witness had heard nothing more.

Interms of a certain section in the Criminal Procedure Actitis not necessary for the state
to aver and prove that the evidence is material.

Question 106 (8)

Discuss the requirement for a conviction of common-law perjury that the declaration
must have been made in the course of a judicial proceeding.

Answer

Answer this question on your own.

Question 107 (5)

Discuss the requirement for a conviction of common-law perjury that the declaration
must have been made under oath, or in a form allowed by law to be substituted for an
oath,

Answer

Common-law perjury is committed only if the false declaration is made under oath, orin a
form allowed by law to be substituted for an oath, namely an affirmation to tell the truth,
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! !\S?;{ Criminal Law Amendment Act 105 of 1997:5 51 |
R e o \
e
i § The elements of the crime of murder are the following: murder is the 0
| unlawful (if) intentional (iii) causing of the death (iv) of another person. In this
workbook there will be no questions on these elements, for the following
reasons: sl

|

[ e the contents of the first three elements of (or prerequisites for) the crime
| have already been thoroughly investigated in the questions above deal-
5 ing with the general principles of criminal law;
|

1

e the meaning of ‘causing’ or ‘causation’ (element (jii)) has been investiga- .
ted in the questions above dealing with this topic (see 3.3 in ch 3);

e regarding the requirement of unlawfulness (element (i)), the grounds of
| justifications that may exclude the unlawfulness of the act, such-as |
private defence, necessity and consent, have already been mvest;gated
“ in the questions dealing with unlawfulness (see ch 4);

l e regarding the requirement of intention (element (ii)), the rules and
’ principles relating to this requirement have been investigated in the
\ questions above dealing with that form of culpability. In the questions
| dealing with intention above the emphasis was on the requirement of |
| intention for murder (see 5.3in ch 5); ‘

e element (iv), namely the requirement that another person be killed, is |
! largely self-explanatory. In order to avoid repetition, no questions will ’\
l therefore be asked about the requirements for a conviction of murder. 1
| The following questions relating to murder deal with a very important aspect |
l‘ of the crime which has thus far not been investigated, namely the pumshJ
\

ment for this crime.

Question 108 (6)

Section 51 of the Criminal Law Amendment Act 105 of 1997 provides for certain minimum
sentences to be imposed after a person has been convicted of murder. The section
provides, inter alia, that a court must sentence a person convicted of murder to

imprisonment for life if the evidence brings to light that the murder has been committed
in certain situations. Name these situations.
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Answer

(a) If the murder was premeditated;

(b) IfY (the murdered person) was a police officer who was murdered while performing
his or her functions as a law enforcement officer;

{c) IfYwassomebody who has given orwas likely to give material evidence at a criminal
proceeding involving the commission of a serious crime;

(d) 1fY's death was caused by X in the course of committing rape;

(e) If Y's death was caused by X in the course of committing robbery with aggravating

circumstances;

(f)  Ifthe murder was committed by a person or group of persons acting in the execution
of a common purpose or conspiracy.

Question 109 [4)
If X has been convicted of murder and one of the circumstances set out immediately
above in the answer to question 108 is not present, X does not qualify for the mandatory
imprisonment for life. However, s 51 of the Criminal Law Amendment Act 105 of 1997
provides that in such a situation a court is nevertheless obliged to impose certain
minimum periods of imprisonment. Set out these minimum periods of imprisonment.

Answer

{a) 15years imprisonmentin respect of a first offender
(b) 20vyearsinrespect of a second offender
{c) 25yearsinrespect of athird or subsequent offender.
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12. ASSAULT

SvA 1993 (1) SA SACR600 (A) ]
SvMarx 1962 (1) SA 848 (N) ‘

Question 110 (4)

Distinguish between direct and indirect application of force when committing assault,
and give an example of each. Also indicate whether, for the purposes of assault, it makes a
difference whether the force has been applied directly or indirectly.

Answer

For the purposes of convicting somebody of assault, it makes no difference whether the
force was applied directly or indirectly. In most cases the force is applied directly, for
example by striking or kicking, but it can also be applied indirectly, for example by
derailing a train, setting a vicious dog on somebody, or snatching away a chair from under
a person abouttossitonit, so that the person falls. in Marx, X gave glasses of wine to young
children to drink. After drinking the wine the children became ill. X was convicted of
assault,

Question 111 (9)

X tells Y, who is blind: ' am going to stab you in your chest with this knife which I have in
my hand!’ As a result of this threat Y, who is slightly built, is terrified and starts to tremble.
He only calms down after somebody else has given him a sedative. Xin fact had nothing in
his hand when he shouted at Y. Neither did he at any stage apply any real force to Y's body.
X's conduct towards Y was unlawful and was not preceded by any provocation by Y.
Discuss the question whether X can be convicted of assault upon Y.

Answer

Assault consists inany untawful and intentional act or omission (iywhich results in another
person’s bodily integrity being directly or indirectly impaired, or (i) which inspires a belief
in another person that such impairment of his or her bodily integrity is imminent.

There is no suggestion in the stated facts of any actual (direct or indirect) application of
force. The question is whether, in terms of (i) in the above definition, X has committed
assault by means of a threat of violence. In order to be convicted of this form of assault, the
threat must comply with certain requirements:

(a) The threat must be one of personal violence - in other words, a threat of violence to
Y's body, and not, for example, to his or her property.

(b) The threat must be one of immediate violence, and not, for example, merely a threat
toinjure Y at some time in the future.

(c) Y must believe that X intends to carry out his or her threat and that he or she is
capable of doing so. The crux of this form of assault is the intentional arousal of fear in
Y. The test is subjective in the sense that one must enquire how Y envisaged the
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situation. If Y did not fear the threat of violence, no assault was committed, even
though X'was in a position to carry out his threat, and even though X meant to do it.
Whether X was actually capable of carrying out his threatis not relevant. Thus the fact
that Xinthe present set of facts did not have a knifa in his hand is no defence because
actual fear was arousedin Y.

(d} In earlier definitions of the crime it was stated that mere verbal threats were | @
insufficient to constitute the crime, and that there had to be at least ‘an act or a
gesture’. The weight of opinion today, however, is that it is possible to commit the - -
crime by a mere verbal threat, as is the case in the present question. Question
(e) Y'sfear need not bereasonable. . ‘
(f) Inconclusion, X can be convicted of assault by means of a threat only it he intended to Givetned
inculcate fearin Y's mind. In the context of the stated facts itimplies that X must have of 2007,
known that Y was blind. Answer

Only if all the abovementioned requirements are complied with can Xin the stated set of
facts be convicted of assault. However, in the stated set of facts it is not in every respect
clear whether all these requirements have been complied with.

Any persc
another g

Question
Question 112 (4)

The expre

Discuss the following statement critically: There is no such crime as attempted assault, <11 oft

because attempt to apply force to another's body is the same as threatening to apply
force to such other person, and a threat of violence is in the eyes of the law the same as . Answer
actual violence or actual assault’.

The expr
Answer includes
N i {a) the:
The statementisincorrect. The quoted statementis based on the fallaciousidea thatevery ' 10
threat of bodily harm necessarily gives rise to a corresponding fear of such harm on the . y imy
. . . . il at
part of the threatened person (Y). In certain situations, however, this does not happen; , hod
then, it is submitted, there is only attempted assault, for example where Y is unaware of o
- : : : : () the
the threats because heis asleep, intoxicated or drugged; orwhere Yis aware of the threats ot
and comprehends them, but is completely unperturbed by them because he knows that,
forexample, itis only a toy pistol that is being pointed at him, , Questior
Briefly d
Question 113 6} ! person (
. . . . . . . . - ¥t AN
Discuss the crime of assault with intent to do grievous bodily harm. Indicate whether it is respec
required that grievous bodily harm should in fact have been inflicted. Answer
Answer fal Xir
Answer this question on your own. _ (b) Xir
(c) Xir
i ‘ i) Xir
Question 114 (4) : - "
: (e} I
Discuss whether itis possible for a person to commit attempted assault., a X

Answer

Answer this guestion on your own.
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13. SEXUAL CRIMES

= Criminal Law (Sexual Offences and Related Matters) Amendment Act 32 of |
8 2007:551(1),3,5,15(1) and 56 |
" Criminal Law Amendment Act 105 of 1997:5 51

Question 115 (3)

Give the definition of the statutory crime of rape as set outin s 3 of the Sexual Offences Act
of 2007.

Answer

Any person who unlawfully and intentionally commits an act of sexual penetration with
another person without the latter's consent, is guilty of rape.

Question 116 (4)

The expression ‘sexual penetration’ as used in the Sexual Offences Act of 2007 is definedin
s 1(1) of the Act. Set out this definition.

Answer

The expression ‘sexual penetration’ as defined in's 1(1) of the Sexual Offences Act of 2007

includes ‘any act which causes penetration to any extent whatsoever by:

(a) the genital organs of one person into or beyond the genital organs, anus or mouth of
another person;

(b) any other part of the body of one person, or any object, including any part of the
body of an animal, into or beyond the genital organs or anus of another person; or

(c) the genital organs of an animal, into or beyond the mouth of another person.

Question 117 6)

Briefly describe {in one sentence each) six of the possible types of acts by which a male
person (X) can commit the crime of rape (as set out in the Sexual Offences Act of 2007} in
respect of a female person {Y).

Answer

(a)  Xinserts his penisinto Y's vaging;

(b) Xinserts his penisinto Y’s anus;

(¢} Xinserts his penis into Y’'s mouth;

(d) Xinserts any other part of his body into Y's vagina or anus;

fe) Xinserts any object, such as a stick, into Y's vagina or anus;

(fi  Xinserts any part of the body of an animal into Y's vagina or anus.

Sexual crimes |
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Question 118 (3]
Inorder to be convicted of rape as set out in the Sexual Offences Act of 2007, X's sexual
penetration of Y must take place without Y's consent. Give a brief descri

ption of the
meaning of 'valid consent’ as set out in the Act.

Answer

For consent to succeed as a defence, it must have been given consciously and voluntarily,
eitherexpressly or tacitly, by a person who has the mental ability to understand what he or

she is consenting to, and the consent must be based on a true knowledge of the m

aterial
facts relating to the intercourse.

Question 119 (5)
X'may be convicted of rape as set out in the Sexual Offences Actof 2007 only if, inter alia, Y

has notconsented to the sexual penetration, One of the prindiples relating o the absence

of consentis that consent given in circumstances in which Y had been forced, intimidated

or threatened, is not regarded as valid consent. Disc uss this principle.

Answer

Answer this question on your own,

Question 120

(6)
Discuss therule applied by the courts in cases of rape where consent to sexual penetration
that has been obtained by fraud is not regarded as valid consent.
Answer
Answer this question on your own.
Question 121 (8}

As a reaction to the high incidence of rape in South Africa, s 51 of the Criminal Law
Amendment Act 105 of 1997 has been enacted. This section provides, inter alia, that a
high court must sentence an accused convicted of rape toimprisonment for life in certain
circumstances. Set out these circumstances.

Answer

{a)  Where Y was raped more than once by X or by ény co-perpetrator or accomplice;

{6)  Where Y wasraped by more than one person and such persons acted with a common
purpose;

¢/ Where Xis convicted of two or more offences of rape but has not yet been sentenced:

{d) Where X knows that he has acquired the immune deficiency syndrome or the human
immunodeficiency virus”:

fe)  Where Yis below the age of 16 years;

Where Y is a physically disabled woman who, due to her physical disability, is

rendered particularly vulnerable:

(g) WhereYis mentallyill;

7, 'X'/'\v“ ™

here the rape involved the infliction of grievous bodily harm.
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Question 122 {4

If, after X had been convicted of rape, one of the circumstances set out in the answer 1o
question 121 are not present, X does not qualify for the mandatory imprisonment for life.
However, s 51 of the Criminal Law Amendment Act 105 of 1997 provides that insucha
situation a high court or a regional court is nevertheless obliged to impose certain
minimum periods of imprisonment. Setout these periods of imprisonment.

Answer

(@) 10 yearsinrespect of a first offender;
(b) 15 yearsinrespect of a second offender;
(c) 20 yearsinrespect of a third or subsequent offender.

Question 123 (3)

Give the definition of the statutory crime of sexual assault as set out in s 5 of the Sexual
Offences Act 0f 2007

Answer

Section 5 defines the offence as follows:

‘(1) A person ("A7) who unlawfully and intentionally sexually violates a complainant
("B without the consent of B, is guilty of the offence of sexual assault.

(2) A person {("A”) who unlawfully and intentionally inspires the belief in a complainant
("""} that Bwill be sexually violated, is guilty of the offence of sexual assault’

Question 124 (6)

Describe briefly the meaning of the expression 'sexual violation' as setout ins 1(1) of the
sexual Offences Act of 2007.

Answer

Answer this question on your own.

Question 125 (6)
Briefly describe {inone sentence each) six of the possible types of acts by which a person
(X} can commit the crime of sexual assault{as setoutinthe sexual Offences Act of 2007} in
respect of another person (Y.

Answer

(@ Xeffectsacontact between his or her genital organ and any partof the body of Y.

(b) Xeffectsa contact between the genital organ of Y and any part of his of her own
body.

(c) Xeffectsacontact between his or her anus and any part of the body of Y.

(d) Xeffectsacontact between the anus of Y and any part of his or her own body.

(e) FemaleX effects a contact between her breasts and any part of the body of Y, who
may be either a male or afemale.

() Xcausesor offects a physical contact hetween the genital organs of anus of Y and any
part of the hody of an animal.
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Question 126 (3)

Give the definition of the statutory crime of consensual sexual penetration of a child as set
outins 15(1) of the Sexual Offences Act of 2007.

Answer

Section 15(1) defines the offence as follows:

‘A person ("A”) who commits an act of sexual penetration with a child (“B") s, despite
the consent of B to the commission of such an act, guilty of the offence of having
committed an act of consensual sexual penetration with a child.

The word ‘child" in the definition is defined in s 1(1) as ‘a person 12 years or older but
under the age of 16 years'.

Question 127 o)

Describe the two special defences, set out in s 56 of the Sexual Offences Act of 2007, on
which a person who has been charged with the crime of having committed an act of
consensual sexual penetration with a child may rely.

Answer
Answer this question on your own.

e
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14. CRIMEN INIURIA

—_ e e e e e it 4 Sk e e it SE—

SVAT1971(2) SA 293 (T) |
Rv Olakawu 1958 (2) SA 357 (C) \
Rv Walton 1958 (3) SA 693 (R) |

PSR —_—

S ; .

Question 128 (4)

Briefly distinguish crimen iniuria from criminal defamation. It must be clear from your
answer what the protected interestis in each case.

Answer

Answer this question on your own.

Question 129 (4)

Discuss the meaning of the concept of dignitas as it appears in the definition of crimen
iniuria.

Answer

Answer this question on your own.

Question 130 (6)

Before somebody can be convicted of crimen iniuria on the ground of having violated
another’s dignitas, the other person’s dignity must in fact have been violated. Discuss
whether an objective, a subjective, or perhaps both an objective and a subjective testis
applied to determine whether X's words or conduct has violated Y's dignity.

Answer

Answer this question onyour own,

Question 131 (6)
Discuss crimen iniuria committed by means of the violation of somebody else’s privacy.
Answer

Answer this question on your own.

Question 132 (6)

In Walton the court stated: ‘In the ordinary hurly-burly of everyday life a man must be
expected to endure minor or trivial insults to his dignity. In view of this statement, discuss
the question whether the violation of dignity or privacy should be serious in order to
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15. THEFT

, 5% Rv Janoo 1959 (3) SA 107 (A) |

L B SvKinsella 1961 (3) SA519(C) |
SvKotze 1965 (1) SA 118 (A)

‘ Rv Laforte 1922 CPD 487

‘ Rv Makonie 1942 OPD 164

‘ Sv Ndebele 2012 (1) SACR 245 (GSJ)

| Sv Nkosi 2012 (1) SACR 87 (GNP)

; R v Sibiya 1955 (4) SA 247 (A) :

‘ SvVan Coller 1970 (1) SA 417 (A) ‘

Question 133 (7)

Theft can only be committed in respect of certain types of oroperty. Discuss the types of
property that are capable of being stolen.

Answer

Answer this question on your own.

Question 134

X stands nextto Z's car and tells Y, who passes by: ‘This car belongs to me. Don't you want
to buy it from me?' Y tells X that he wishes to buy the car and pays X the purchase price
there and then. X thereupon declares that he first has to get the key of the car from his
wife, and they agree to meet each other again at the car an hour later. When Y returns an
hour later, Z, the true owner, has already driven the car away, and there is no trace of X.
Discuss the question whether, on these facts, X may be convicted of:

fa; theft of the car (in this question you must briefly consider the nature of the require-

ment of an act in theft): (8)
(b) theft by means of false pretences in respect of the money (purchase price) paid by Y

to X; (5)
() fraud. (4)
Answers

fa) Theft consists in the untawful, intentional appropriation of movable, corporeal

property which (i) belongs to, and is in the possession of, another; {ii: belongs to
another butis in the perpetrator’s own possession; or (iii) belongs to the perpetrator
but is in another’s possession and that such other person has a right to posses it,
which legally prevails against the perpetrator's own right of possession, provided
that the intention to appropriate the property includes an intention permanently to
deprive the person entitled to the possession of such property.

In Roman and Roman-Dutch law the act of theft was described as a contrectatio,
which usually meant the handling of a thing by which it was physically touched.
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(b)

{c)

South African courts today still use the term contrectatio to describe the act, but it is
clear that our law has long since reached the stage where a thing can be stolen
without it necessarily being physically handled. The courts nowadays prefer to
describe the act of theft as the appropriation of particular property. ‘Appropriation’
of the property means the following: X (i) acts as if he or she is the owner of the thing
and (i) precludes the owner from exercising effective control over his or her thing.

In the stated set of facts it is clear that X acted as if he were the owner of the car,
However, his act did not result in Z, the true owner of the car, losing or &
effectively excluded from his property (the carl. for this reason there
appropriation by X, and he can therefore not be convicted of theft,

deing
was no act of

In Makonie the facts resembled those in the present question, X pointed outto Y a

heifer which in reality belonged to Z, presented to Y that it belonged to him (X), and
‘gave'ittoYinexchange for certain clothing. When Y later came 1o fotch the heifer he
discovered that it in fact belonged to Z. The court held that X had not committed
theft because he had not committed a contrec tatio in respect of the heifer.
A person commits theft by false pretences if he or she unlawfully and intentionally
obtains movable, corporeal property belonging to another with the consent of the
person from whom he or she obtains it, such consent being given as a result of a
misrepresentation by the person committing the crime, and appropriates such
property. The crime may be regarded as a form of fraud because Y is deceived by X,
and the deception or misrepresentation is then followed by an appropriation of the
thing. What in fact happens is that both fraud and theft are committed.

X clearly deceived Y by misrepresenting to him that he was the owner of the car

and that he was selling it. As a result of this misrepresentation Y paid X the purchase
price. Xknew that Y had been deceived, and he therefore had the intention required
for the crime. Y lost his money and X appropriated it for himself. This conclusion is
based on the assumption (which is a reasonable ass mption on the facts) that when
X received the money from Y, he had no intention of giving Y the car. X is therefore
guilty of theft by false pretences in respect of the money.
Fraud is the unlawful, intentional making of a misrepresentation which causes actual
prejudice or whichis potentially prejudicial to another. The cardinal requirements for
the crime are (i) that there must be a misrepresentation, (i) the misrepresentation
mustresultinactual prejudice to Y or that there must be potential prejudice to him or
her, and {iii} X must have the intention to defraud. It is clear that X deceived Y:first, he
falsely presented to Y that he was the owner of a car which he wished to sell.
Secondly, as a result of this misrepresentation Y parted with his money. He suffered
actual prejudice. Thirdly, X acted with the intention to defraud: he knew that he was
telling Y afalsehood and that Y would lose his money if he gave it to him (X). For these
reasons there can be no doubt that X had committed fraud.

) |
}\? Questions relating to fraud are included in ch 17 below. f
b
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Question 135 (7)
¥ enters a self-service shop, removes a small bar of soap from a shelf and puts itin his
trouser pocket. Before reaching the ¢ heck out point, heis confronted by a security guard.
The guard searches through Xs clothing and finds the bar of soap in one of his pockets. X
is charged with the theft of the soap. Discuss whether he ought to be convicted of theft for
stealing the bar of soap.

Answer
(The answer ought to begin with a definition of theft. See the definition given above in
part (a) of the answer to question 134.)

A bar of soap is a movable, corporeal thing in commercio (available in commerce) and
therefore capable of being stolen.

X appropriates a thing if he acts as if he is the owner thereof and in so doing effectively
precludes the actual owner from exercising control over it. It essentially amounts to X's
exercising of control over the thing in the place of the person who has the right to it (Y).
The precise momentat which the owner loses his or her control and the thief gainsitisa
guestion of fact.In order to decide whether, in the stated set of facts, X had committed an
act of appropriation, one must determine whether X at the moment he was apprehended
had already excluded Y ithe shop owner! from his control over the bar of soap and had
already obtained control over the soap himself.

There have been conflicting decisions regarding the question whether, in a set of facts
such as the present, X had already obtained full control over the property. In some cases it
was held that X's conduct constituted completed theft (which implies that he had already
obtained effective control), whereas in other cases it was held that such conduct
constituted only attempted theft (whichimplies thatatthat stage he had not yet obtained
offective control). itis beyond doubt that, assuming that X had the intention to steal, heis
at least guilty of attempted theft.

According to the latest trend in South African case law, X is guilty of completed theft f,
with the intention to steal, he or she had in a self-service shop concealed articles in or
under his or her clothing and was apprehended before reaching the check-out point.
Although owners of self-service shops usually take steps to prevent customers from
secretly removing articles from the shop without paying for them, it is practically
impossible to keep an eye on 4l clients at all times. For this reason it cannot be alleged
that, practically speaking, such shop owners exercise full and effective control over
everything in their shops. One can therefore infer that, at the time he was apprehended, X
had already obtained control over the article and had therefore appropriated it.

In order to be convicted of theft, X must have intended to steal the soap. If he had
placed the soap in his trouser pocket in order to pay for it later, or if he was merely
absent-minded, he would lack the intention to steal. The facts stated in this guestion are
insufficient to justify a definite conclusion regarding X's intention.

Question 136 (9)

X takes Y's car without his consent, intending to use it for only abouttwo to three hours to
visit his girlfriend. He intends to return the car safely to Y's premises after his visit to his
girlfriend. X visits his girlfriend, but on the way back to Y's house collides with alamp post.
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Having sustained only light injuries in the collision, he walks away from the damaged car
and intentionally refrains from notifying Y of what has happened to the car. The place
where the collision took place is situated about 20 km from Y's house. The next day Y
notifies the police that his car has been stolen. Ten days later the police inform him that
they have found the car in a damaged condition. Discuss the question whether X can be
convicted of theft of the car. Briefly refer to the nature of the intention required for theft.

Answer

{(The answer ought to start with a definition of theft See the definition given in part (a) of
the answer to question 134

A car is capable of being stolen because it is a movable, corporeal thing which is in
commercio. X's conduct, especially his act of abandoning the car after the collision,
constitutes an act of appropriation because he acted as if he were the owner of the car and
in so doing excluded Y from exercising his rights to the car.

The most important question, however, is whether X had intended to steal the car, The
intention required for theft comprises, first of all, a knowledge by X that the object he is
dealing with is a movable, corporeal thing which is in commercio and which belongs to
another. Secondly, he must know that Y has not consented to the taking of the article.
Thirdly, X must have the intention to appropriate the article. This means that he must
intend to deprive Y of his control over the article and to exercise such control himselfin Y's
stead.

The intention to deprive Y of his property is further qualified by the important rule that
X must intend permanently to deprive Y of his property. Where he intends only tempora-
rily to deprive Y of his property, he respects and recognises Y's right to the property
throughout. This is contrary to the essence of apprapriation Already duting the previous
century the courts required for theft an intention permanently to deprive Y of his
property, mainly because of a similar rule in English law. The Appellate Division
recognised and applied this rule in Sibiya, amongst others. As was held in Kinsella, the
common-law rule that X must have the intention of deriving a henetitfrom his handling of
the thing no longer forms part of our law.

If one applies the above principles relating to the requirement of intention to the
present set of facts, the position is as follows: the fact that X removed the car without Y's
consent with the intention of returning it to Y after two or three hours does not mean that
he had intended to steal it, because the intention to steal comprises an intention
permanently to deprive Y of his property. However, the whole picture changed when X
walked away after the collision without notifying Y of what had happened. The courts
have held in a number of cases, such as Laforte, that if X uses Y's thing temporarily but
thereafter abandons it, not caring whether Y will ever get it back, he acts with an intention
o steal and is guilty of theft, In such a case the intention permanently to deprive Y of his
property is presentin the form of dofus eventualis: X foresees the possibility that Y may not
recover his property and acts recklessly in respect of this possibility. For this reason X, in
the given set of facts, is guilty of theft.
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Question 137 {9

Briefly explain the meaning of:

(i embezziement;

v v D RO e BT

SO I PSRN . - . - - s PR -
the untawful arroaation of NOSSESSIoN R 205

(i the unlawful use of athmo Hurtam uses

Indicate whether each of these acts is sull punishabie as a

Answer

Answer this question on your own. j
g

Question 138 (8

Wis o trustee who must at tor Vs financial affairs for him, it is X's duty to receive

cheques inrespectof funds dueto Y as well as other amounts of money acquired by Y and

ther 1o deposit the money or the funds which the cheques represent to Y's benefitin

banking or savings accounts, However, instead of doing this, he deposits the : 1

other money into his own private bank account. From time to time he withdraws almost

all the money from his own account and spends it on liguor and vacations. Discuss the

aquestion whether X has committed theft in respect of the money duetaV.

Aniswer

Answer this question O your ;wh
I your answer you should draw attention to the special rules relating to the
theft of money by somebody in a trust or fiduciary relationship. You should
mention that the bank is the owner of the money in the account, that the
trustee (X) only has a claim against the bank, that X's act of paying the money
| into his own private account technically amounts to no more than a breach of

| contract, but that the courts, for example in Kotze, nevertheless equate this .
conduct to theft. You should also draw attention to the fact that what X steals
is in reality not a specific corporeal object, but mere ‘credit’, that is, an abstract
a sum of money, but that not even this consideration deters the courts from
regarding X's conduct as theft.

Question 139

Briefly discuss the guestion whether i each of the feillowing instances X
theft

v

‘al ¥y peighbour, Y, owes X 82000 but fails for more than

money. One day X goes 1o Y house, takes Vs television e

storeroom. He tells Y that e will get hus television hack only . i
the R2 000 he owes him. X does not use the television set, but mereh
toinduce Y 1o pay his debt.

(b)  Xtakeshiscartoagarage forrepairs. Me signsan agreement with the garage interms
of which the garage has a right to keep the car until X has paid the fu
repairs. When X later returns to the garage o £ ‘ .
amount to be paid for the repairs is much more than he had anticipated, and that he

famountforthe

atch mis car. he discovers that the
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: . does not have enough money to pay for it. The garage accordingly refuses to let him
have the car back. The same night X sneaks into the garage in the dark, takes his car

3 : and drives it away. {3)
iy () X intentionally removes a large quantity of food and clothing from a millionaire’s
house without his consent. He does not use any of the booty himself, but distributes 4 -
itamong the poor. {3 : o

(d) A stray horse comes walking onto land belonging to X, a farmer. X does not know
who the owner of the horse is, and allows it to graze on his property. Three months
later he ascertains that it belongs to Y. A month thereafter X, who is in financial

difficulty, sells the horse and uses the money to pay his debts. (3 Q
Di
Answer h
: (@) X did not commit theft by taking Y's television set and keeping it at his own house A
: without Y's consent because he did not intend to deprive Y of all the benefits of his
ownership. X intended throughout to give the television set back to Y as soon as Y A
had paid back the debt. He intended to deprive Y only temporarily or partially of his
property. This cannot be equated to an intention to appropriate the property Q
because the latter intention presupposes an intention permanently and fully to b
exclude Y of his property. Clear authority for this conclusion may be found in the af
judgmentin Van Coller, in which the facts were analogous. Al
(b} Xis quilty of theft. This is a case of furtum possessionis or the "unlawful arrogation of A
%‘* possession’. The garage had a particular right or, as the courts state, 'a special f
i property or interest’, in the car. X committed theft despite the fact thatit was his own Q
o property which he took from the lawful possessor. Clear authority for the rule that B
such conduct constitutes theft is to be found in the decision of Janoo. i
: () Xcommitted theft of the food and clothing, despite the fact that he did not consume ' ‘o
or use the food or clothing himself, but distributed itamong the poor. He intendedto
appropriate the articles unlawfully, thatis, to dispose thereof as it he were the owner
and in so doing to exclude the owner from exercising his rights to the articles. The
fact that he did notintend to enrich himself in any way is no defence, since our law no (k
£ longer applies the old common-law rule that the thief must intend to obtain an
advantage from the handling of the property. This is clear from, inter alia, the
decision in Kinsella. X's decision to distribute the articles among the poor refers to his
e motive only, but his motive should not be confused with his intention. X's benevo-
lent motive may at most resultin a more lenient sentence after his conviction. (¢
(d) X committed theft, more particularly theft in the form of embezziement. The mere :
fact that he allowed the stray horse to graze on his property does not mean that he
had committed theft. It is also doubtful whether he committed theft by allowing the
horse to remain on his property after having discovered who the owner was. Only if
there is clear evidence of an act of appropriation (such as branding a horse with one's A
own mark) can one assume that X had appropriated the horse. The fact that X : ‘¢

subsequently sold the horse is clear evidence that he had appropriated the horse.
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'ROBBERY

Ex parte Minister van Justisie: Inre Rv Gesa, Rv De Jongh 1959 (1) SA 234 (A)
Ex parte Minister van Justisie:Inre S v Seekoei 1984 (4) SA 690 (A)
Sy Sithole 1981 (1) SA 1186(N)

Question 140 (4)
Discuss the requirement for robbery that the property must be obtained by violence or
threats of violence.

Answer
Answer this guestion on your own.

Question 141 ‘ (4)
Discuss the requirement for robbery that there must be a causal connection between the
application of violence and the acquisition of the property.

Answer
Answer this question onyour own.

Question 142

Briefly discuss the question whether in each of the following instances X has committed

robbery:

(a) Intending to assault Y, X hits him over the head with a blunt object. Y falls to the
ground, unconscious. While Yis lying on the ground, X notices for the first time that
he (Y) is wearing a valuable watch. X snatches the watch from Y's arm and runs away
with it. X's decision to take the watch was taken only after he had assaulted Y. (2)

(b) X breaks into Y's house during the night and threatens to injure Y seriously if he fails
to hand him the keys to his shop and the safein the shop. Y refuses to hand X the keys.
X assaults him, takes the keys from him by force and ties him to a chair so that he
cannot move. An hour later, X unlocks Y's shop and the safe inside with the keys and
removes all the money from the safe. The shop is 3 km from Y's house. {2)

(c) Y walks on the pavement, clutching her handbag tightly under her arm. X ap-
proaches her from behind and with a quick, unexpected movement, snatches the
handbag and runs away with it. The handbag did not have straps that Y couid sling
over her shoulder. Y did not sustain any injury when X snatched the handbag from
behind her. (3)

Answers

(a) Xisnotquilty of robbery. A person can only be guilty of robbery if thereis a causal link
between the violence and the taking of the article. In the stated set of facts thereis no
such causal link. X first committed assault and thereafter theft, thatis, two separate
crimes, and can be convicted of these two crimes.
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17. FRAUD

SvGardmer?OH( )%AQR 570 (scm !
Rv Heyne 1956 (3) SA604 (A) %
i S v Huijzers 1988 (2) SA 503 (A ) ‘1
| SvMyeza 1985 (4] SA30(T) |

Question 143 (8)

Discuss the requirement for fraud that there must be a misrepresentation.

Answer

Answer this question on your own.

Question 144 (8)
Discuss the requirement for fraud that there must be prejudice or potential prejudice to
somebody.

Answer

Answer this question on your own.

Question 145 (7)
Discuss the nature of the intention required for a conviction of fraud. In your answer you
must distinguish between an intention to deceive and an intention 1o defraud.

Answer

Answer this guestion on your own.

Question 146 (4)

Discuss the question whether there is such a crime as attempted fraud in South African
law.

Answer

Answer this question on yourown.

Question 147 (6)
Write a brief comment on each of the following statements, pointing out whether each
statement is, in your opinion, correct or incorrect.
(@) Inthe crimeof fraud the misrepresentation must refer to a present situationortoa
past event.
(b} 1f X, who wishes to borrow money from Y, misrepresents to Y the reason for
borrowing the money, and Y lends him money as a result of this misrepresenta-
tion, X commits fraud.
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(c) Itis not required for fraud that there should be a causal link between the mis
representation and the prejudice.

Answer

Answer this question on your own.

in commentlng on statement (b) the udgment of the Appellate DIVIS!On in
- Huuzers roust be taken into account. In’ ‘this Judgment the Appellate Division
“held that X's conduct constituted fraud, because Y had suffered prejudice. As

far as statement (c) is concerned, itis usually accepted that there need not bea
causal link between the misrepresentation and the prejudice, because of the
wide meaning, of the term ‘prejudice’. A person can ‘commit fraud even
though there is'no such causal link, provided the mlsrepresentatlon is
potenttally prejudlual It is, after all, not required for fraud that the misrepre-
sentation should be successful. .
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NOTE:
{a)

(b)

(c)

CRIMINAL LAW WORKBOOK

~ SCHEDULE A: CONSTRUCTION OF CRIMINAL

LIABILITY

The diagram on the next page represents a standard crime. There are exceptions
to this standard model. Strict liability crimes, for example, dispense with the
requirement of culpability.

‘Compliance with principle of legality' is indicated with a dotted line because, if a
person’s liability for a well-known crime such as murder, theft or rape has to be
determined, it is so obvious that such a crime is recognised in South African law
that it would be a waste of time to enquire whether there has been compliance
with the requirement of legality.

The heading ‘Compliance with definitional elements’ is further subdivided with a
dotted line because crimes may, according to their definitional elements, be
classified or subdivided in different ways. The purpose is merely to incorporate
into the diagram the subdivision into formally and materially defined crimes. The
subdivision shows the place of the requirement of causation in the general system
of criminal liability.
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B:- DEFENCES AND THEIR EFFECTS

NOTE:

This table does not contain a complete list of every conceivable defence which an accused
can raise when charged with an offence. Every crime has different definitional elements,
and it is impossible here to set out every possible defence based on the absence of a
particular definitional element of a particular crime (eg ‘premises’ in housebreaking,
‘property’ in theft).

The only defences included in this table are those based on or related to the absence of
a general prerequisite for liability in terms of the general principles of criminal law. The
purpose is to point out the relationship between a particular defence and the corres-
ponding general prerequisites for liability.

For obvious reasons, we have left out defences of a procedural nature, defences related
to the law of evidence and the general defence known as an alibi.

if there is an asterisk after the verdict ‘Not guilty’ in the third column, it means that a
court would only in exceptional circumstances find an accused not guilty.
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Table 2: Defences and their effects

General prerequisite.for

Defence - |on - -liability:placed.
o o Joer T inissuel e A e

Automatism due to Conduct Not guilty*

involuntary conduct not
}d*mbutab\eto mentalillness | - - . o o
Impossibility WVoluntary conduct in form of I Not guilty

’ } .. |bmission O ]
I Act does not comply with IRequirement that conduct fNot guilty ‘

‘ definitional elements \ should comply with

l definitional elements_
“Act not a sine gua non for |
‘ result, or not an adequate i

\ cause of resultant condition, i

Requirement of causation

"Unlawfulness
"as private d(lfor\(o, consent i

m)cessltx

“Youth

Mental abnormality, includ ling
automatism due to mental
iliness

.

Jmlmmal\capac;ity -
}Crlmmal capacity

|

f(rimindl cap};dt—f

\

\

: o i
i . Intent required for crime

|

|

charged
!

' Provocation intent required for crime

|
[ tntoxmat\anm T TConduct T
\
|
i

| |

s

Notqwlty/but DOSS\b|\/ gulity ‘
\ of a less serious formally |
| defined crime, such as assault) |

ot guilty

“Not quilty

"Not guilty, but X usually 1
; ordered to be detained in
| psychiatric hospital or prison

l
Not guilty* of crime charged, |
fi but guilty of contravening s 1 i
(of Act10f1988 j
I'Not guilty*® of crime charged,

| but guilty of contravening s ! \
J Of ACI ]»9f»197§8 o o

"Not guilty, but usually gurlty of |
less serious crime whichis a ‘

‘ ‘Guilty, but measure of

| fcharged . provocation may serve as |
| | i ground for mitigation of ‘
L S | punishment  _ o
(i charged with crime— [intention ) T TNot guilty (at least on main 3
I requiring intent: result or i | charge - possibly guilty of less |
U circumstances not foreseen serious crime which is a |
competent verdict on main |
If charged with crime intention Not guilty (at least on main
requiring intent: mistake, charge - possibly guilty of fess
either of fact or of law serious crime)
fcharged with crime | Negligence TNotguity
requiring negligence: conduct
was reasonable, ie did not |
deviate from conduct to be
expected of reasonable
person in the circumstances; i
| OR unlawful result or ‘: \
| circumstances not foreseeable | 1 3

“A court would only in exceptional circumstances find an accused not guitty

Schedule B: Defences and their effect |
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GLOSSARY OF LATIN TERMS

Latin term

Explanation

dberrdtl() ,ctus

“actio I|bera in causa

= -

actus I’@US

ammus host(hs

: bom mores
(()FTUTHSHO
| U)nd;tro sine qua non
(omre(tat!o

}
Fcrimen iniuria

(ulpa

delirium tremens

[o— — —

dolus dxre(tus

dolus eventuahs

the going astray ofthe blovv

hterally ‘free action in the cause’; real meanmg voluntarily
becoming intoxicated in order to gain enough courage to

_commit a crime
i .

‘t\eforbudden aet

hostele mte nt

‘ the qood muals (of souety
(OTT\ITHSSI()I‘

<(>nd|t«on Wlth()ul whmh not

;the requirement. ofan actmtheft
-t R

the crime of finjuring ( another S dagmty or prwacy

neghgence

literally 'trembling delirium’ - a medical term for a certain
L psychiatric iliness

direct intent

’Iegal intent’, ie appreciation of poss;bmty plus recklessness

doius mdwectus indirect mtem f
: error m negotio o 'mistake rela mg tothe nature ofthe act (ortransa(tton)
errorin ob}e(tio &mustake relatmg to tbe ob ect (ofthe act) ‘
Tlﬁr}(>r in persona 7 : rmstake reIaLmq to t e |demxty of a person :
Perroriuris rmstake remtmg to the faw V N
xgnonmmur!s lgnorance 0 thelaw - - i
Iex noncoqttdd1mposs|b1I|a ' theiawdoe< not applyto»mpossablethmgs 1
tuudum mtervallum ! (vd mterval » j
rluxuﬁr!rd V 7 consmous neqllgeme 1
! mens rea x |tera||y qutlty mind’; real meanmq cu!pabqhty orfault A
' novus a“ctus mte;\;emens - new mterve;;r‘\;jwéct . o
omissio - omission - 7
socduscriminia partnerinacime

versariin re IHICItd “tobe engaged in something unlawful 4
vis absolutd absolute force

VIS compulslve

| vis relative

force by means of compulslon

! relatzve force

Glossary of Latin terms
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